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QUESTION 1

A company would like to configure Financials, Workforce, and Projects. They would like to plan and forecast the Project
dimension in Financials, as well as track employee utilization in Projects.

Which two actions must they take to ensure that the Project dimension is shared and the data integrated correctly
across all three modules? (Choose two.)

A. In Workforce, ensure that the granularity is at Employee or Employee and Job
B. In Financials, rename one of the custom dimensions to "Project” and enable it

C. In Projects, ensure that the Employee driver-based expense is enabled D. In Workforce, rename one of the custom
dimensions to "Project” and enable it

Correct Answer: AD

QUESTION 2

After loading Workforce data from external systems, which two statements describe actions you can take to process
Workforce data? (Choose two.)

A. If an existing employee was omitted from the load file, you can add that existing employee in Workforce. Then assign
properties and compensation options for that employee.

B. To calculate updated compensation data after changing benefit options and rates from the loaded file, first change
the benefit options and rates in Workforce and then run the Calculate Compensation

business rule.

C. If an existing employee was not loaded from the load file, you won\\'t be able to add their compensation information
before first adding them to the source system and reloading the file.

D. Because you cannot override loaded default assignments in Workforce, change the defaults in the load file and
reload it.

E. To override loaded default assignments, change them in Workforce. After saving your changes, updated
compensation data is calculated.

Correct Answer: BD

QUESTION 3

What are the two primary use cases for an ASO reporting cube? (Choose two.)
A. You want to create and execute Calculation Manager business rules

B. You want to report on Smart Lists in Planning, which you can\\'t do in Planning

C. You want to report on new Planning data originating from any source, such as a data warehouse
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D. You want to create, maintain, and report on Attribute dimensions

Correct Answer: BD

QUESTION 4

When calculating a tiered type of tax, what should be the selected "Maximum Value Type\\'? (Choose the best answer.)
A. Threshold Amount

B. Percentage of Overall Earnings

C. Percentage of Salary

D. Percentage of Taxable Earnings

E. Flat Amount

Correct Answer: A

Setting the Maximum Value Type to Threshold Amount is available only for Taxes.

Reference: https://docs.oracle.com/en/cloud/saas/enterprise-performance-management-common/eswpc/
wf_about_maximum_value_type_110x00c2886b.html

QUESTION 5

If the HSP_VIEW dimension exists in the cube, what feature has been enabled? (Choose the best answer.)
A. Rolling Forecast

B. Intercompany Eliminations

C. Multicurrency

D. Sandboxes

Correct Answer: D

When a cube is enabled for sandboxes, the HSP_View dimension is created.

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-cloud/pfusa/ the_hsp_view_dimension.html
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